

Vendor Ranking Page 1 of 1

 Letting:
 08220614
 June 14, 2022 02:30 PM
 Call Order: 004
 Contract:
 E8T91

 District:
 Turnpike
 Counties:
 MIAMI-DADE
 Fed Aid No: N/A

Contract Time: 60 CALENDAR DAYS Project(s): 44388225202 (*)

Contract Desc: PAVEMENT MARKINGS - HEFT - MP 18.0 TO MP 27.0

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ALEXANDER DESIGN + BUILD, LLC	Responsive	Winning bid	\$327,766.20	100.00% Intent to AWARI
2	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$515,741.25	157.35%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 28, 2022, 4:00 PM



Tabulation of Bids Page 1 of 6

 Letting:
 08220614
 June 14, 2022
 Call Order:
 004
 Contract:
 E8T91

 District:
 Turnpike
 Counties:
 MIAMI-DADE
 Fed Aid No:
 N/A

Contract Time: 60 CALENDAR DAYS

Project(s): 44388225202 (*)

Contract Descr: PAVEMENT MARKINGS - HEFT - MP 18.0 TO MP 27.0

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to provide thermoplastic pavement markings, milling and resurfacing at various locations on the Homestead Extension of Florida's Turnpike Managed lanes (SR 821), from Milepost (MP) 18.0 to (MP) 27.0.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

The Contractor shall perform all work night hours in accordance with the Turnpike Lane Closure Policy.

All lane closures shall be during the hours of 9:00 P.M to 5:00 A.M. and in one direction for one lane only.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Pavement Markings. The Experience in Pavement Markings Form (850-070-06) must be filled out and submitted to be reviewed by the Department. If a Contractor is presently prequalified with the Department in pavement marking, it is not necessary to submit the form.

Line No / Item ID Alterna	ite Quantity Units	(1) ALEXANDE BUILD		(2) MCSHEA CO			
() indicates item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
0005 0101 1 MOBILIZATION	(1.000) LS	10,000.00000	10,000.00	10,000.00000	10,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	20,000.00000	20,000.00	30,000.00000	30,000.00		
0015 0102 14 TRAFFIC CONTROL OFFICER	182.000 HR	75.00000	13,650.00	90.00000	16,380.00		



Tabulation of Bids

of Bids Page 2 of 6

Letting	g: 0	8220614	June 14, 2022	Ca	II Order: 004		Contract:	E8T91	
	No / Item ID	Alternat	e Quantity Units	(1) ALEXANDI BUILD		(2) MCSHEA CO			
() inc	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
0020 WORK 2	0102 60 ZONE SIGN		282.000 ED	0.45000	126.90	0.65000	183.30		
	0102 74 1 ELIZING DEV UM, OR LCD	ICE- TYPES I,	2,606.000 II, DI, ED	0.45000	1,172.70	0.20000	521.20		
	0102 76 V BOARD / AD V PANEL	VANCE WARN	42.000 NING ED	12.00000	504.00	13.00000	546.00		
	0102 99 BLE CHANGE EMPORARY	EABLE MESSA	30.000 GE ED	10.50000	315.00	25.00000	750.00		
0040 TYPE III	0102115 I BARRICADE		4.000 ED	1.00000	4.00	1.50000	6.00		
0045 PORTAI	0102150 1 BLE REGULA	TORY, SIGN	28.000 ED	10.50000	294.00	12.00000	336.00		
0050 RADAR	0102150 2 SPEED DISP	LAY UNIT	28.000 ED	10.50000	294.00	19.00000	532.00		
	0327 70 19 G EXISTING A ENT, 3/4" AVC	-	2,500.000 SY	4.50000	11,250.00	4.50000	11,250.00		
	0337 7 25 LT CONCRET SE, INC BIT, FO	E FRICTION C-5, PG 76-22	100.000 TN	245.00000	24,500.00	300.00000	30,000.00		



Tabulation of Bids

Page 3 of 6

Letting:	08220614	June 14, 2022	Cal	l Order: 004		Contract:	E8T91	
Line No / I		Quantity Units	(1) ALEXANDE BUILD		(2) MCSHEA CO			
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
	4 1 1 ARKER, DURABLE, 36" -	160.000 EA	75.00000	12,000.00	200.00000	32,000.00		
	6 1 3 EMENT MARKER, TYP	10,970.000 E B EA	3.00000	32,910.00	4.00000	43,880.00		
PAINTED PAY STANDARD,	0 11102 VEMENT MARKINGS, WHITE, SOLID FOR GE AND URBAN ISLAN	0.351 GM ID, 8"	1,100.00000	386.10	1,250.00000	438.75		
PAINTED PAY STANDARD,) 11124 VEMENT MARKINGS, WHITE, SOLID FOR PR CHEVRON, 18"	16.000 LF	4.50000	72.00	1.50000	24.00		
PAINTED PA	0 11131 VEMENT MARKINGS, WHITE, SKIP, 10-30 C E	0.030 GM DR 3-9	450.00000	13.50	650.00000	19.50		
PAINTED PAY	0 11141 VEMENT MARKINGS, WHITE, 2-4 DOTTED 6-10 DOTTED EXTENS	0.080 GM SION,	450.00000	36.00	850.00000	68.00		
PAINTED PA) 11160 VEMENT MARKINGS, WHITE, MESSAGE OF	12.000 EA	95.00000	1,140.00	65.00000	780.00		



Tabulation of Bids

Page 4 of 6

Letting:	08220614 Ju	ne 14, 2022	Cal	l Order: 004		Contract:	E8T91	
Line No / It		Quantity Units	(1) ALEXANDE BUILD		(2) MCSHEA CO			
() indicates i	tem is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001 (N	IAINTENANC	E SUPPORT SER	VICES (MH				
PAINTED PAV	11201 EMENT MARKINGS, 'ELLOW, SOLID, 6"	0.150 GM	950.00000	142.50	950.00000	142.50		
THERMOPLAS	11124 STIC, STANDARD, WHITI R DIAGONALS AND	384.000 E, LF	3.50000	1,344.00	6.00000	2,304.00		
	11160 STIC, STANDARD, WHITI SYMBOL	158.000 E, EA	135.00000	21,330.00	185.00000	29,230.00		
	14160 STIC, PREFORMED, AGE	16.000 EA	370.00000	5,920.00	400.00000	6,400.00		
THERMOPLAS	15102 STIC, STANDARD-OPEN HALT SURFACES, WHIT	20.320 GM E,	6,250.00000	127,000.00	12,000.00000	243,840.00		
THERMOPLAS GRADED ASP	15131 BTIC, STANDARD-OPEN HALT SURFACES, WHIT SKIP OR 3-9 LANE DRC		2,100.00000	63.00	6,500.00000	195.00		
THERMOPLAS GRADED ASP	15171 BTIC, STANDARD-OPEN HALT SURFACES, WHIT ED MANAGED LANE	1.890 GM E,	2,050.00000	3,874.50	3,500.00000	6,615.00		



Tabulation of Bids

Page 5 of 6

Letting:	08220614	June 14, 2022	Cal	Il Order: 004		Contract:	E8T91	
	o / Item ID Alterna escription	te Quantity Units	(1) ALEXANDI BUILD		(2) MCSHEA CO LL			
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
THERMOR	0711 15201 PLASTIC, STANDARD-OF ASPHALT SURFACES, SOLID, 6"	0.150 PEN GM	5,150.00000	772.50	8,000.00000	1,200.00		
PERMANE EXIT LANE	1713103102 ENT TAPE, WHITE, SOLII E AT INTERCHANGE ON FE PAVEMENT		45,500.00000	37,765.00	56,000.00000	46,480.00		
PERMANE	0713103131 ENT TAPE, WHITE, TED, 6" FOR CONCRET ES	0.090 GM E	9,850.00000	886.50	18,000.00000	1,620.00		
0001 MAI	INTENANCE SUPPORT SERVICES (MH)	Section Totals:		\$327,766.20		\$515,741.25 [°]		
	Contract G	Grand Totals:		\$327,766.20		\$515,741.25		



Tabulation of Bids

Page 6 of 6

Letting: 08220614 June 14, 2022 **Call Order**: 004 **Contract**: E8T91

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.